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t > 0 C [0, t] o

C

(ai, bi) i = 1 2 · · · n n

0 < t1 < t2 < · · · < tn ≤ t

A = { x | x ∈ C, x(ti) ∈ (ai, bi), 1 ≤ i ≤ n }

C x A

[(2π)nt1(t2 − t1) · · · (tn − tn−1)]
−1

2

∫ b1

a1

· · ·
∫ bn

an

[

−1
2
·
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x21
t1

+
(x2 − x1)

2

t2 − t1
+ · · ·+ (xn − xn−1)

2

tn − tn−1

)]

dx1dx2 · · · dxn

C dwx

X = {X(t), t ∈ R+ } (Ω,F , P )

d Rd 1 X(0) = 0 2

0 ≤ t1 < t2 < · · · < tn X(t0) X(t1) −



X(t0) X(t2)−X(t1) · · · X(tn)−X(tn−1)

3 S ≥ 0 τ > 0 X(s+ τ)−X(s)

P (τ, x) = (2πτ)
−d

2

(−|x|2
2τ

)

d X = (x1, x2, · · · , xd) ∈ Rd

|x| =
(

d
∑

k=1

x2
k

)

1

2

X 4 X X
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f(x) ∈ L2(−∞,∞) f(x) = 0 ( |x| > σ ) f

f(x) =

∫ σ

−σ

f(t)e−itxdt (1)

1 x z z = x + iy

F (z)

F (z) =

∫ σ

−σ

f(t)e−itzdt (2)

F (z) f ∈ L2(−∞,∞)

|F (z)| ≤ eσ|z|
∫ σ

−σ

|f(t)| dt

≤
√
2σ

(
∫ σ

−σ

|f(t)|2 dt
)

1

2

eσ|z|

≤ Aσe
σ|z|

2 F (z) σ

σ > 0 F (x) ∈ L2(−∞,∞) F (x) L2(−∞,∞)

(−σ, σ) f(t)

F (x) σ F (x + iy) x
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µΦ(x)−
∫ ∞

0

k(x− y)Φ(y)dy = f(x) 0 ≤ x < +∞

µ k(x) (−∞ < x < +∞) f(x) (0 ≤ x < +∞)

Φ(x) (0 < x < +∞)
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